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	January/2019 Braindump2go 300-370 Exam Dumps with PDF and VCE New Updated Today! Following are some new
300-370 Real Exam Questions:]1.|2019 Latest 300-370 Exam Dumps (PDF & VCE) Download:
https://www.braindump2go.com/300-370.html2.|2019 Latest 300-370 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/0B75b5xYLjSSNdGVBOXFERG9OSFU?usp=sharingQUESTION 78Which two

statements describe WGB access to a Cisco Unified Wireless Network that is running code 7.0.116.0? (Choose two.)A.    Only Cisco

WGB or universal WGB is supported.B.    WGBs other than Cisco are supported with Layer 3 roaming.C.    WGBs other than Cisco

are supported with Layer 2 roaming.D.    Cisco WGB devices are supported with VLAN tagging.E.    Cisco WGB devices are

supported only with a single native VLAN.Answer: ADExplanation:

http://www.cisco.com/c/en/us/td/docs/wireless/access_point/15-3-3/configuration/guide/cg15-3-3/cg15-3-3-chap19-wgb-standb
y.htmlQUESTION 79Rogue containment, how?A.    de-authentication packets with spoofed addressAnswer: AQUESTION 80

Question is missingA.    QAM256Answer: AQUESTION 81DHCP option 43 to use hex, one question f104 and the other f108, ......

one IP was 172.xxx.25.4 >> it should be f104.xxxx.1904(You need to be familiar with hex format and hex-to-decimal translation of

small numbers )A.    one controller f104 andhex two controllersf108andhexAnswer: AQUESTION 82What is the recommended

maximum height of the antenna?A.    20 ftAnswer: AQUESTION 83From where to do MSE password recovery?A.    MSE cli
Answer: AQUESTION 84When use autonomus migration template on WCS, what will be needed on the autonomous AP?A.    AP
must have been added to WCS before using the migration templateAnswer: AExplanation:  QUESTION 85When use

fingerprinting method, which is the least cost , easiest lateration to use? the options were :TDOA , cell of origin , VOR , )A.    cell of
originAnswer: AQUESTION 86Why we have 20% bonus for active mesh parent?A.    To reduce flapping between parents
Answer: AQUESTION 87When audit and config group enforcement failed, what alarm severity will be?A.    CriticalB.    majorC.   

minorD.    warningAnswer: AQUESTION 88What is the antenna type used for location services?A.    DASB.    HybridC.    internal

D.    yagiAnswer: C!!!RECOMMEND!!!1.|2019 Latest 300-370 Exam Dumps (PDF & VCE) Download:
https://www.braindump2go.com/300-370.html2.|2019 Latest 300-370 Study Guide Video: YouTube Video: 

YouTube.com/watch?v=O1QXeO95Atg
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